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(a) She wants to find out if living things need air to survive.

(b) The fruit fly in Set-up D will live longer. There is more air inset-up D

for the fruit fly. Hence less competition for air.

(a) One seed - A, C

Many seeds - B, D

(b) Fruit B has a smooth skin while fruit Chas hairy skin.

(a) 

, . 

Organism 

C 

D 

Produce fruits 

.J 

Makes food Grow in water 

.J .J 

(b) Organism A does not make its own food while organism B makes its

own food.

(a) Tree Y. The roots of tree Y are shorter so the roots cannot hold the

tree firmly to the ground.

(b) The tiny openings allow the exchange of gases in its surroundings.

(c) The arrangement of the leaflets allows the plant to trap more sunlight

to make food.
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(a) Animal R breathes through moist skin while Animal S breathes

through gills.

(b) Both animal Rand T reproduce by laying eggs.

(c) Bird A did not have enough food to eat as insect B was its food.

(a) Part A: scales Part B: Fins 

(b) Part B allows the fish to move in water by pushing it to move.

(c) Mammals. When the dolphin is young, it has hair at the tip of its

nose and when it gets older, they slowly drop off.

(a) The dried fruit is dry and mould need water to survive.

(b) Action : Put the fish in refrigerator

Explanation : To reduce warmth

(a) B : stomach

(b) Tick B and C

C : small intestine 

(c) Part C absorbs the digested food while Part D absorbs water from

the undigested food.

(a) A, D, B, C

(b) C. C absorbs the most water so it can clean up the spillage on the

floor more efficiently.

(a) Object X could be a magnetic material.

(b) Turn Object X around to see if the other pole repels the iron nail.

(c) Tick option (i)

(ct) Copper is a non-magnetic material so it will not be attracted by the

electromagnet. 
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